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Introduction

Are the original poems really

equivalent with contemporary translations?
Can we trust the interpretations?

Methods

1) 1000 poems in the Kokinshu (ca. 905)

2) 10 sets of the translations (CT)

3) ALIGN 10,000 pail"S (1,000 poems with 10 sets)
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Result

TaBLE 1: Summary of the contemporary Japanese translations

translation work (vear)  pages _manuscript _method

Kancko (1933) 105 Teika word-for-word
Kubota (1960) 1449 e word-for-word
Matsuda (1968) 1998 not mentioned
Ozawa (1971) 544 wording changed
Takeoka (1976) 2278 word-for-word
Okumura (1978) 434 intention oriented
Kyusojin (1979) 1260 words adde
Komachiya (1982) 407 not mentioned
Kojima and Arai (1989) 483 not mentioned
Katagiri (1998) 3022 word-for-word

TABLE 2: Re
X

the elements of OP(208) from those of CT(208

it indicates the ratio of the ingredients of OP(20)

0P (valid number of element) =16

E (ratio of exact match) 12/16 = 0.750
F (ratio of field match) 1/16 = 0.062
G (ratio of group match) 2/16 = 0.125
T (ratio of total match) 15/16 = 0.938
U (ratio of nnmatched OP) 1= T =008

pair No.
4o

T—- POS No.

| OP element No.+

| OP element + I
11 *tatsutahime 00
47 te 04
47 mukeru 05
2 kami 06
61 no 07
47 ari 08
64 ba 09
65 koso 11
2 aki 12
71 no 13
2 konoha 14
2 nusa 19
61 to 20
a7 chiru 21
74 ramu 22
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Exact 12 (75.0%)

Unmatched 1 (6.2%) —

W 12 (29.3%,

D 25 (59.5%)

Group/z (12.5%)

Field 1 (6.2%)
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F1a. 1: Flowchart of data processing

value of matching level, exact=17, field=13, group=10

CT element No.
?T element

*Tatsutahime (pn.Tatsutahime)

te (hand)
mukeru (toward)
kami (god)

ga (SUB)

aru (be)

kara (because)
koso (EM)

aki (autumn)
no (con)
konoha (leaf of tree)
nusa (present)
to (CRD)
chiru (fall) | wow
u (CJR)

TABLE 4: Amount of added information (N=1000)

alignment subtraction
translator  “min.__mean (SD) _max. min.__mean (SD) _max
T K 0.16 053 (0.09)  0.80 0.8 049 (0.09)  0.73
2 Katay 021 049 (0.08) 0.71 0.16 044 (0.08)  0.68
3 Kojima Arai  0.15 046 (0.09) 0.74 0.10 041 (0.10)  0.69
4 Komachiya 012 0.44 (0.08) 0.72 011 039 (0.08)  0.67
5 Kubota 0.15 045 (0.09)  0.77 0.13 040 (0.09) 0.72
6 Kyusojin 0.10 047 (0.08)  0.73 011 042 (0.08)  0.69
7 Matsuda 0.00 044 (0.09) 0.77 0.07 039 (0.09)  0.69
8 Okumura, 0.06 044 (0.08) 0.75 0.11 041 (0.08) 0.72
9 Ozawa 0.10 046 (0.08) 0.72 020 044 (0.07)  0.70
10 Takeoka 0.11 042 (0.10) 0.74 0.06 038 (0.10)  0.69
mean 0.12 | 046 (p.03) 0.7 0.2 042 (0.03) 0.70

TaBLE 3

982): £abs (D-H) stands for
minus th

-
12/41 = 0.293 (£/CT)
1-0.293 = 0.707 (1-¥)

(0.62+0.12)/0.707 =
(0.707-0.073)+0.062 =
0.707-(0.073+0.040) =

1-16/a1 =
£abs(0.595-0.610) =

0.073 (F+G)/A
0.040 (A-P1)*U
0.595 A-(P1+P2)
0.610 1-0p/CT
0.015 fabs (D-K)

CTeeskoma) : 41 elements



